2. Compare the two expressions using <, >, or =.

For each, explain how you can find the exact answer without doing all the math.
HINT: Remember to look at the words — what does 40 twelves mean? What is

doubled?

a. 20 (5%6) @ 100 x 7

| Knew A0X 5 = 100, Yhordore 100X b 15
l2ss *‘H/t&n 6O x 7]

b. 36 x 12 @ 40 twelves — 5 twelves

Lo Fwelweg — 5 %wz’t’*’s
is equal to 35 tuvelres,
26 twelwes is c3m:»+€r

Hion 35 +ue lves

— ]
c. 9 x8 G 4 nines, doubled

4 doblg is 8, Hoeloe
8 nines = <x9
<X 9 :ﬁxg



